Year 9 Core - Angles: parallel lines and pol

« | ABCis astraight line. Work out the size of the angle marked x.
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Work out the size of the angle marked x.
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. | Work out the size of angle ABC
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. | ABCis an isosceles triangle, work out the size of angle
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(a) Work out the size of the angle marked x.

(b) Work out the size of the angle marked y.

(c) Give reasons for your answer.
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Year 9 Higher — Angles; parallel lines and polygons
1. Find the missing angle —give a reason for 2. Find the missing angle — give a reason for your
your answer. answer.
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3. Find the missing angle — give a reason for 4. Find the missing angle — give a reason for your
your answer. answer.
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7 Complete the table

Eggng [;“ggg S ;’;;’ge”m Sum of all interior angles | Size of interior angle

j Eﬁﬂfézal 3 360°+3 = 1207 | 1x180° = ﬁ@.o 190 +3=_LO°
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8. What is each interior angle of a regular
polygon with 14 sides?
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Calculate the sum of the interior angles of
a polygon with 22 sides.
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9. Each interior angle of a regular polygon
is 168°. How many sides does the

polygon have?
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10. How many sides do these regular polygons
have if their exterior angles are...?
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